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Chemistry paper 1, 2&3
a) The strongest reducing agent. Give a reason for your answer. (2 marks)
b) An clement whose oxide has pH of below seven when dissolved in water. (1 mark)
9. Study the information in the table below and answer the questions that follow. (C=12.0, H=1.0)

No. of carbon atoms per | No. of hydrogen atoms | Relative molecular
Hydrocarbon
molecule per molecule mass
S 42
T 4 10 58
U 12 72
\ 6 12 84
a) Complete the table by filling the missing information. (1 mark)
b) Name and draw two isomers of hydrocarbon T. (2 marks)
10. a) Hydrogen chloride gas can be prepared by reacting two substances. Name the two substances.
b) Write a chemical equation for the reaction between the two substances. (1 mark)
¢) Give two uses of hydrogen chloride. (1 mark)
11. Draw a set-up that can be used to separate a mixture of sand and ammonium chloride. (3 marks)

12. The curves below represents the change in mass when equal masses of powdered magnesium and magnesium ribbon were
reacted with excess 2M hydrochloric acid. Study them and answer the questions below.
N

Mass of Flask and
Contents(grams)
>

Y

v

Time (Minutes)

Which curve represents the reaction with magnesium powder ? Explain your answer. (3 marks)
13. Study the information in the table below and answer the questions that follow.

Solubility g/100g of water
Salt
at 40°C of 60°C
CuSO, 28 38
Pb(NOs), 79 98

A mixture containing 35g of CuSO, and 78g of Pb(NOs), in 100g of water at 60°C was cooled to 40°C.
a) Which salt crystallised out? Give a reason. (2 marks)
b) Calculate the mass of the salt that crystallized out. (1 mark)
14. Complete the nuclear equation below.

0 UIUXe +

b) the halflifeof '} ] is8 days.

Determine the mass of 12; | remaining if 50g decayed for 40 days. (1 mark)
¢) Give one harmful effect of radioisotopes. (1 mark)
15. When a hydrocarbon was completely burnt in oxygen, 4.2g of carbon (IV) oxide and 1.71g of water was formed. Determine
the empirical formula of the hydrocarbon. (3 marks)

(C=12.0, H=1.0, 0O=16.0)
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